STEELCORE

330 LB. STEEL MESH PULL CART

*Actual product may vary slightly

Please carefully read and save these instructions before attempting to assemble, maintain, install, or operate this product.
Observe all safety information to protect yourself and others. Failure to observe the instructions may result in property
damage and/or personal injury. Please keep instructions for future reference.

For warranty purchases, please keep your dated proof of purchase. File or attach to the manual for safe keeping.

For Customer Service, Call 1-800-348-5004

. . 42812  03/2017
or e-mail customerservice@focus-ontools.com




ASSEMBLY INSTRUCTION

Remarks:

MAXLOAD: 330 LBS

MAX INFLATION: 30 PSI

ASSEMBLED SIZE: 45.3'x 19.3' x 35.4"

PART LIST:

1. Base

2. Side Rack

3. Front & Rear Rack

4. Front Draw Bar

5. Handle

6. 10" Wheel

7. Front Bracket

8. Rear Bracket

9.7pb” Pin

10. M8x15 Bolt

11. Pin

12. M8 Washer

13. M16 Washer

14. M8 Nut oX
15. M8x58 Bolt 1X
16. Plastic Connector  1x

customerservice@focus-ontools.com 1-800-348-5004




